

Bernoulli, Stirling and Lah numbers

¹J. Morales, ¹G. Ovando and ²J. López-Bonilla

¹CB1-Área de Física, AMA, Universidad Autónoma Metropolitana-Azcapotzalco,
 Av. San Pablo 180, Col. Reynosa-Tamaulipas CP 02200, CDMX, México,

²ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We prove an identity involving Stirling and Lah numbers, which allows deduce a relation for the Bernoulli numbers in terms of the Stirling numbers of the second kind

Key words: Stirling - Lah and Bernoulli numbers

INTRODUCTION

First we shall show the identity:

$$A(n, j) \equiv \sum_{k=j+1}^n (-1)^k S_{k-1}^{[j]} S_n^{(k)} = \frac{(-1)^n}{n} (j+1) L_n^{[j+1]} = \frac{(-1)^n (n-1)!}{j!} \binom{n-1}{j}, \quad n \geq 1, \quad 0 \leq j < n, \quad (1)$$

Involving the Stirling numbers [1-3] and the Lah numbers [4-6]. In fact:

$$A(n, j) = \sum_{k=j+1}^n (-1)^k \left[S_k^{[j+1]} - (j+1) S_{k-1}^{[j+1]} \right] S_n^{(k)} = (-1)^n L_n^{[j+1]} - (j+1) A(n, j+1),$$

Which is a recurrence relation whose solution is given by (1), q.e.d.

We have the inversion formula [1, 5]:

$$\sum_{k=0}^n f(k) S_n^{(k)} = g(n) \quad \therefore \quad \sum_{k=0}^n g(k) S_n^{[k]} = f(k), \quad (2)$$

and its application to (1) implies the expression:

$$\sum_{k=j+1}^n (-1)^k (k-1)! \binom{k-1}{j} S_n^{[k]} = (-1)^n j! S_{n-1}^{[j]}, \quad n \geq 1, \quad 0 \leq j < n. \quad (3)$$

From [1, 7, 8]:

$$\frac{(1-2^k)}{k} B_k = \sum_{j=0}^{k-1} \frac{(-1)^j j!}{2^{j+1}} S_{k-1}^{[j]}, \quad (4)$$

Then:

$$\sum_{k=0}^n \frac{(-1)^k (1-2^k)}{k} B_k S_n^{(k)} = \sum_{j=0}^n \frac{(-1)^j j!}{2^{j+1}} \sum_{k=j+1}^n (-1)^k S_{k-1}^{[j]} S_n^{(k)} \stackrel{(1)}{=} \frac{(-1)^n (n-1)!}{2^n}, \quad (5)$$

where we can apply (2) to obtain the following relation deduced in [9, 10]:

$$\sum_{k=0}^n \frac{(-1)^k (k-1)!}{2^k} S_n^{[k]} = \frac{(-1)^n}{n} (1-2^n) B_n, \quad n \geq 1. \quad (6)$$

In [11] are studied the numbers:

$$b_n(0) \equiv \int_0^1 \binom{x}{n} dx = \frac{1}{n!} \sum_{k=0}^n \frac{1}{k+1} S_n^{(k)}, \quad n \geq 0, \quad (7)$$

That is:

$$b_0(0) = 1, \quad b_1(0) = \frac{1}{2}, \quad b_2(0) = -\frac{1}{12}, \quad b_3(0) = \frac{1}{24}, \quad b_4(0) = -\frac{19}{720}, \dots \quad (8)$$

Then the application of (2) to (7) gives the expression:

$$\sum_{k=0}^n k! b_k(0) S_n^{[k]} = \frac{1}{n+1}. \quad (9)$$

On the other hand, from [12]:

$$\sum_{k=0}^n (-1)^k B_k S_n^{(k)} = \frac{(-1)^{n-1} (n-1)!}{n+1}, \quad n \geq 1, \quad (10)$$

Hence (9) and (10) imply the identity:

$$\sum_{k=1}^n (-1)^k B_k S_n^{(k)} = (-1)^{n-1} (n-1)! \sum_{k=1}^n k! b_k(0) S_n^{[k]}, \quad n \geq 1; \quad (11)$$

Similarly:

$$\sum_{k=1}^n B_k S_n^{(k)} = (-1)^n n! \sum_{k=1}^n k! b_k(0) S_n^{[k]}, \quad n \geq 1. \quad (12)$$

Besides:

$$\sum_{m=0}^n \sum_{j=0}^m \frac{(-1)^j j!}{2^j} S_n^{(m)} S_m^{[j]} = \sum_{j=0}^n \frac{(-1)^j j!}{2^j} \sum_{m=j}^n S_n^{(m)} S_m^{[j]} = \sum_{j=0}^n \frac{(-1)^j j!}{2^j} \delta_{jn} = \frac{(-1)^n n!}{2^n}; \quad (13)$$

The properties (12) and (13) are the Theorems 2.3 and 2.4 in [11], respectively.

Ghosh [13] showed the relation:

$$\sum_{k=0}^n \binom{2n+1}{2k} 2^{2k} B_{2k} = 2n+1, \quad n \geq 0, \quad (14)$$

To determine the values of the Riemann zeta function in even integers; however, (14) was obtained by Euler [14, 15]. Namias identity is given by [16-19]:

$$B_n = \frac{1}{2(1-2^{2n})} \sum_{k=0}^{n-1} 2^k \binom{n}{k} B_k, \quad (15)$$

which for n even or odd generates (14) and the expression:

$$B_{2m} = \frac{1}{2(1-2^{2m})} \left[-1 + \sum_{k=1}^{m-1} (2^{2k} - 2) \binom{2m}{2k} B_{2k} \right], \quad m = 1, 2, \dots, \quad (16)$$

This relation (16) was obtained in [18] without using the gamma function as in [16].

Lee-Kim [20] showed the following identities for $n \geq 0$:

$$Q \equiv \sum_{k=0}^n \sum_{r=0}^k \binom{n+1}{k} \binom{k}{r} B_{k-r} B_r = (n+1) B_n, \quad (17)$$

$$R \equiv \sum_{k=0}^n \sum_{r=0}^k \binom{n+1}{k} \binom{k}{r} (-1)^k B_{k-r} B_r = (n+1)(n + \delta_{n,1} + B_n), \quad (18)$$

Then we shall give elementary proofs of them. In fact:

$$\begin{aligned} Q &= \sum_{r=0}^n \binom{n+1}{r} B_r \sum_{k=r}^n \binom{n-r+1}{k-r} B_{k-r} = \sum_{r=0}^n \binom{n+1}{r} B_r \sum_{j=0}^{n-r} \binom{n-r+1}{j} B_j, \\ &= \sum_{r=0}^{n-1} \binom{n+1}{r} B_r \sum_{j=0}^{n-r} \binom{n-r+1}{j} B_j + \binom{n+1}{n} B_n = (n+1) B_n, \quad q. e. d. \end{aligned}$$

where it was applied the relation [1]:

$$\sum_{j=0}^m \binom{m+1}{j} B_j = 0, \quad m \geq 1. \quad (19)$$

Similarly:

$$R = \sum_{r=0}^n (-1)^r \binom{n+1}{r} B_r \sum_{j=0}^{n-r} (-1)^j \binom{n-r+1}{j} B_j = \sum_{r=0}^n (-1)^r \binom{n+1}{r} (n-r+1) B_r, \quad (20)$$

where it was used the identity [1]:

$$\sum_{j=0}^m (-1)^j \binom{m+1}{j} B_j = m+1, \quad m \geq 0. \quad (21)$$

It is clear that $R = 1$ for $n = 0$, then now we shall accept that $n \geq 1$:

$$\begin{aligned} R &= (n+1) \sum_{r=0}^n (-1)^r \binom{n+1}{r} B_r - \sum_{r=0}^n (-1)^r \binom{n+1}{r} r B_r, \\ &\stackrel{(21)}{=} (n+1)^2 - (-1)^n (n+1) B_{n+1} - \sum_{r=0}^{n+1} (-1)^r \binom{n+1}{r} r B_r, \\ &= (n+1)[n+1 - (-1)^n B_n] - (n+1)[1 - (-1)^n (B_{n+1} + B_n)] = (n+1)[n + (-1)^n B_n], \end{aligned} \quad (22)$$

where it was employed the property:

$$\sum_{k=0}^n (-1)^k \binom{n}{k} k B_k = n [1 + (-1)^n (B_n + B_{n-1})], \quad n \geq 1; \quad (23)$$

our expression (22) is equivalent to (18), *q.e.d.*

REFERENCES

1. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore (2016).
2. Iturri-Hinojosa, A., J. López-Bonilla, R. López-Vázquez and O. Salas-Torres, 2017. Bernoulli and Stirling numbers, BAOJ Physics, 2(1): 3-5.
3. Barrera-Figueroa, V., J. López-Bonilla and R. López-Vázquez, 2017. On Stirling numbers of the second kind, Prespacetime Journal, 8(5): 572-574.
4. Aigner, M., 2007. A course in enumeration, Springer, Berlin (2007).
5. Spivey, M.Z., 2019. The art of proving binomial identities, CRC Press, Boca Raton, FL, USA (2019).
6. López-Bonilla, J. and J. Yaljá Montiel-Pérez, 2020. On the Lah and Stirling numbers, Comput. Appl. Math. Sci., 5(1):16-17.
7. Shirai, S. and Ken-ichi Sato, 2001. Some identities involving Bernoulli and Stirling numbers, J. Number Theory, 90: 130-142.
8. Boyadzhiev, K.N., 2009. Exponential polynomials, Stirling numbers, and evaluation of some gamma integrals, Abstract and Applied Analysis ID 168672 (2009).
9. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London (2012).
10. Bai-Ni Guo and F. Qi, 2015. A new explicit formula for the Bernoulli and Genocchi numbers in terms of the Stirling numbers, Global J. of Math. Analysis, 3(1): 33-36.
11. Yuluklu, E., Y. Simsek and T. Komatsu, 2017. Identities related to special polynomials and combinatorial numbers, Filomat, 31(15): 4833-4844.
12. Gómez-Gómez, E., J. López-Bonilla and T.J. Salazar-Sandoval, 2020. Identities of Vassilev and Jha for Bernoulli numbers, African J. Basic Appl. Sci., 12(2): 34-36.
13. Ghosh, A., 2017. An identity involving Bernoulli numbers and a proof of Euler's formula for $\zeta(2n)$, <https://ghoshadi.files.wordpress.com/2017/06/zeta2n.pdf>
14. Nielsen, N., 1923. Traité élémentaire des nombres de Bernoulli, Paris (1923).
15. Riordan, J., 1968. Combinatorial identities, John Wiley and Sons, New York (1968).
16. Namias, V., 1968. A simple derivation of Stirling's asymptotic series, Am. Math. Monthly, 93(1): 25-29.
17. Deeba, E.Y. and D.M. Rodriguez, 1991. Stirling series and Bernoulli numbers, Am. Math. Monthly, 98(5): 423-426.

18. Bucur, A., J. López-Bonilla and J. Robles-García, 2012. A note on the Namias identity for Bernoulli numbers, *J. Sci. Res. (India)*, 56: 117-120.
19. López-Bonilla, J. and V. Ortiz-Cadena, 2017. A note on Song's identity for $\zeta(2n)$, *Prespacetime J.*, 8(1): 90-92.
20. Lee, I. and D.S. Kim, 2012. Derivation of identities involving Bernoulli and Euler numbers, *Int. J. Maths. and Mathematical Sci. ID*, 598543 pp: 1-14.